HOSE FITTING

E Winner Fluid

IF
L]

CUTTING RING

RL REF. SO 8434.1
RS
PART NO. THERAD TUBE O.D. IR e MPa SERIES
RL-06 M12X15 6 ) - -
RL-08 * M14X15 8 } - -
RL-10 M16X15 10 ; - _ s
RL-12 M18X15 12 ) - -
RL-15 + M22X15 15 ; - _ .
RL-18 M26X1 5 18 ) - -
RL-22 M30X2 22 ; - _
RL-28 * M36X2 28 ; _ _ .
RL-35 * M45X2 35 } ] ]
RL-42 » M52X2 42 ) - -
RS-06 M14X15 6 } - -
RS-08 * M16X15 8 } - -
RS-10 * M18X15 10 ; - _ 63
RS-12 * M20X15 12 ) - -
RS-14 M22X15 14 ; - _ S
RS-16 * M24X15 16 ) - -
RS-20 * M30X2 20 ; - _ 40
RS-25 * M36X2 25 ) - -
RS-30 * M42X2 30 ; - _
RS-38 * M52X2 38 - _ _ 315

1. Part no. marked with "+" is recommended.

2. Material is carbon steel.




